Appendix 2
Underlying model and coefficients for Table 2. 

[image: ]Underlying model and coefficients for Table 2 with tachycardia defined as heart rate >97th centile for age. 
[image: ]
Underlying model and coefficients for Table 2 including the meningismus or bulging fontanelle.
[image: ]
Variables
age: age in months,  antipyretic: Antipyretic at home,  antibx: Antibiotic at home
quain_wt : Quintile weight
tachy_2: tachycardia defined as heart rate >150
tachy_3: tachycardia defined as heart rate >97th centile for aged2: defined as dehydration coded a 0= None, 1 = Mild, 2=  Moderate, 3= Severe
[bookmark: _GoBack]fast_rr: Tachypnea defend by age, bulging_or_mengismus: Bulging anterior fontanelle or meningismus
image1.emf
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       /cut2     2.033045   .1753756                      1.689315    2.376775

       /cut1      1.10041   .1679276                      .7712779    1.429542

                                                                              

       antbx     .9295012   .2056529     4.52   0.000     .5264289    1.332573

 antipyretic     -.425074   .1188273    -3.58   0.000    -.6579712   -.1921767

     fast_rr     .8685238   .2124047     4.09   0.000     .4522182    1.284829

          d2      2.27056   .1534859    14.79   0.000     1.969733    2.571387

      tachy2     .2791998   .1208108     2.31   0.021     .0424149    .5159847

    quain_wt    -.2086268   .0782282    -2.67   0.008    -.3619513   -.0553024

         age     .0403193   .0158524     2.54   0.011     .0092491    .0713895

                                                                              

     hyp_ord        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -1215.3832                       Pseudo R2       =     0.1108

                                                  Prob > chi2     =     0.0000

                                                  LR chi2(7)      =     303.04

Ordered logistic regression                       Number of obs   =       1754
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       /cut2     1.865114   .1547332                      1.561842    2.168385

       /cut1     .9335336    .146843                      .6457267    1.221341

                                                                              

 antibx_home     .9381655   .2052451     4.57   0.000     .5358924    1.340439

      tachy3     .2301805   .1295656     1.78   0.076    -.0237634    .4841244

     fast_rr     .8897489   .2113175     4.21   0.000     .4755743    1.303924

 antipyretic    -.4245217   .1188663    -3.57   0.000    -.6574953   -.1915482

          d2     2.252227   .1531491    14.71   0.000      1.95206    2.552394

    quain_wt    -.2093873   .0780288    -2.68   0.007     -.362321   -.0564536

         age     .0336233     .01624     2.07   0.038     .0017935    .0654532

                                                                              

     hyp_ord        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -1216.5275                       Pseudo R2       =     0.1100

                                                  Prob > chi2     =     0.0000

                                                  LR chi2(7)      =     300.75

Ordered logistic regression                       Number of obs   =       1754
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              /cut2     2.089887   .1767725                      1.743419    2.436355

              /cut1     1.148004    .168979                      .8168112    1.479197

                                                                                     

              antbx     .9445147    .206565     4.57   0.000     .5396548    1.349375

        antipyretic     -.427698   .1190884    -3.59   0.000    -.6611069    -.194289

            fast_rr     .8640426   .2139418     4.04   0.000     .4447243    1.283361

                 d2     2.277426   .1541887    14.77   0.000     1.975221     2.57963

             tachy2     .2886898   .1213854     2.38   0.017     .0507787    .5266008

           quain_wt    -.2113267   .0783883    -2.70   0.007     -.364965   -.0576884

                age     .0430619   .0159107     2.71   0.007     .0118775    .0742464

bulg_or_meningismus     1.985351   .4795173     4.14   0.000     1.045515    2.925188

                                                                                     

            hyp_ord        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                                     

Log likelihood = -1207.1312                       Pseudo R2       =     0.1169

                                                  Prob > chi2     =     0.0000

                                                  LR chi2(8)      =     319.54

Ordered logistic regression                       Number of obs   =       1754


